Mathematics Date: cevveeeiennnnnnn.
Solving Equations

Exercise A

Solve the following equations:

. 2x—5 =11 2.3x-7=20 3.2x+6=20 4. 5x+10 =60
5.8=7+3x 6. 12=2x—38 7. -7=2x-10 8.3x—7=-10
9, 12=15+2x 10. 5+ 6x =7 11. 100x —1 =98 12. 7=7+7x
13. igﬁ +10=20 14. 1000x — 5 = —6 15. -4=—-7+3x16. 2x+4=x-3
17 x—3=3x+7 18. 5x—4=3—x 19.4-3x=1 20. 5—4x=—3
21. 7=2—-x 22.3-2x=x+12 23. 6+2a=3 24.a-3=3a-17
25. 2y —1=4-3y 26. 7—-2x=2x—17 27.7-3x=5-2x  28.8-—2y=5-35y
29. x—16=16—2x  30. x+2=3.1 31, x—4=-3 32. 3—-x=-5
Exercise B
Solve the following equations: \
1L.X=7 22X =13 « B T &2l
5 10 2 2 3
g 3% 6. By o e IX g 3_2x
2 5 3 4 3
g 2x 1 10 - 2=3% 1.2 41=12 22 _7=2
. 6 4 4 5 2 3
X X X a
13. = —6=-2 14.4==-5 15. 10=34= 16. = —1=—4
5 > , % 5
X 1 3. X 1 x
17. =+ 1l=—— 18 — =4+ —=——-=
2 4 ; 510 55
Exercise C
Solve the following equations.
¢ Lox+3x+1)=2x 2. 143(x—1D=4
3. 2x—2(x+ 1) = 5x _4.23x-1)=3kx-1)
5. 4x-1)=23—-x) 6. dx—1)—2=3x
7. 4(1-2x)=3R2—-x) 8.3-22x+1D)=x+17
9. 4x=x—(x—2) 10, 7x = 3x — (x + 20)
1. 5x—3(x—1)=39 12. 3x +2(x— 5) =15
13.7-(x+1)=9-(2x—-1) 14. 10x — (2x +3) =21
15. 32x+ D+ 2(x — 1) =23 16. 5(1 — 2x) — 3(4+4x) =0
17. 7x—(2—-x)=0 18. 3(x+1)=4—(x—3)
19. 3y +7+3(y — 1) =22y + 6) 20. 4y —D+3(y+2)=5(y—-4)°
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Exercise D

Solve the following equations.

5
10 = 2.30=2 g2
X X = X
4
2w A Eaat
X b. 4 X
x+1 x-1 \'+3_.\'—4 92\’—l=£
7. 3 = 8. 2 5 3 2
3x+1_ 2x S 19 2. 12 _4
o 5 —.T "'x—l—x 2x—3
18 5 15 Ao
— 14. T 15-_+2—'
13. 2 - x+5 x+7 x
3
T 1.2 =T 1 18, -~
X X X
4 ' G By 21. 24 2o
19.4- == .20. e =
Exercise E
Solve the equations.
1 (x+3Nx-D=x+4x=3) 2 xx+7D=(x-3)x-1)
3 (x+5P=(x+6)x+3) 4 (Bx +Dx—-1D=3xk-2)
5 (2x+ Dx+3)=x(2x-75) 6 (x+3)P=(x-2)
T 2x+D*=@x-DEx+1) 8 (x-3)x+3)=x-18
9 (x+1P+x+2)=2x+Dix+1) 100 (x+2P +(2x—1) =5x(x+ 1)
Exercise F
Solve the following equations:
Lox*+4=(x+1)(x+3) 2. x*4+3x=(x+PNx+1)
. (x+3)(x—1)=x"+5 4. (x+1)(x+4)=(x—-T)(x+6)
5. (x: )(x+3)=(x—-7N(x+7) 6. (x—5)(x+4)=(x+T7x—-106)
7. 2x " +3x=2x-D(x+1) 8. 2x-1D(x-3)=(2x-3)(x-1)
9. x?+ (x+ 1) =(2x— 1)(x +4) 10. x(2x +6) = 2(x% — 5)

In Questions 11 and 12, form an equation in x by means of Pythagoras’
Theorem, and hence find the length of each side of the triangle.
(All the lengths are in ¢m.)

11. 12.

5 x+3

M=-1 x+ 2
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